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Practice MCQ For Govt Pharmacist Exam, in this article we will solve, Practice MCQ on joints, a
topic under Human Anatomy and Physiology first semester. Read following article for your

reference.

Joints

1. Which of the following is NOT a type of joint based on structural classification?

a) Fibrous
b) Cartilaginous
c) Synovial

d) Elastic

2. What type of joint is characterized by the presence of a joint cavity?

a) Fibrous
b) Cartilaginous
c) Synovial

d) None of the above

3. Which of the following movements is unique to the forearm?
a) Flexion and Extension

b) Abduction and Adduction

c) Pronation and Supination

d) Dorsiflexion and Plantar Flexion

4. Which type of joint allows for the widest range of movements?
a) Fibrous

b) Cartilaginous

c) Synovial

d) All of the above

5. Which of the following is NOT a function of synovial fluid?

a) Lubrication
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b) Nourishment
c) Shock absorption

d) All of the above are functions of synovial fluid

6. Which of the following is a characteristic of fibrous joints?
a) They have a joint cavity

b) They are connected by cartilage

c) They are immovable or allow limited movement

d) They allow a wide range of movement

7. Which type of joint is the elbow?
a) Fibrous

b) Cartilaginous

c) Synovial

d) None of the above

8. What type of movement decreases the angle between two body parts?
a) Flexion

b) Extension

¢) Abduction

d) Adduction

9. Which of the following joints allows for circumduction?
a) Shoulder

b) Skull

c) Knee

d) Between the tibia and fibula

10. Which of the following is NOT a function of synovial joints?
a) Allow for a wide range of movements

b) Provide strength and stability
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c) Facilitate growth of long bones

d) Reduce friction between bones

answers

1. Elasticis NOT a type of joint based on structural classification.

2. The type of joint characterized by the presence of a joint cavity is a synovial joint.

3. The movement that is unique to the forearm is pronation and supination.

4. The type of joint that allows for the widest range of movements is a synovial joint.

5. All of the options listed (lubrication, nourishment, and shock absorption) are functions of
synovial fluid; therefore, all of the above are functions of synovial fluid.

6. A characteristic of fibrous joints is that they are immovable or allow limited movement.

7. The type of joint that the elbow is classified as is a synovial joint.

8. The type of movement that decreases the angle between two body parts is flexion.

9. The joint that allows for circumduction is the shoulder.

10. Synovial joints do NOT facilitate the growth of long bones.
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